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Who used First time the term micro

economics and macro economics?
A. Irving Fisher

B. Ragnar Nurkse

C. Ragnar Frisch

D. Marshall

Which of the following is not an economic

problem?

A. deciding between extra paid work

and leisure

B. deciding between expenditure an one
good and another good

C. deciding between allocation of

income to saving and consumption

D. deciding between different ways of
spending leisure

Marginal utility ofa commodity is

A. total utility divided by the number of
units bought

B. the utility of last unit consumed

C. additional utility that a person gets by

acquiring one more unit
D. Utility equal to the price paid for it.

Which one of the following is not an

assumption of cardinal utility theory?

A. Rationality

B Measurability of utility

C.  Additivity ofutility

D Diminishing marginal utility of

money as income increases.
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5. Total utility will be maximum when 5. @Wﬁm SAfyeran B 9

A. marginal utility is equal to zero A. WWW@W@
B.  marginalutility is maximum B. sy sfumau
C. average utility is equal to zero

C.  IrudSuMAE I I
D. average utility is maximum
D. ShaSwEif Afywa &
6. Which of the following describes the way in

6. = # @ = 3@ At %1 aviF wa € R

which a rational consumer allocates his

expenditure on different goods? T faaemefier 3Tt oA =5 1 fafir=
A Law of equi-marginal utility TG A A FAE?
B.  Lawofdemand A, WA-HW Sy e
C.  Law ofdiminishing marginal utility B. HAm&HfEm
D. Law of supply C. = e g |
7. For perfect complementarity between goods D. qﬁfaﬁ'[ﬁ-q-q
xandy

7. SIX IRy & &9 IO TS fod
A.  MRSxy IR

A. MRSxy will be zero

B. MRS yx will be zero

B. MRS l
C. Both MRS xy and MRS yx will be yx?l?[@"’ﬁ

Zero C. MRSxy AR MRSxy Tﬂ‘ﬁ?ﬁ?ﬂﬁ |

D. Neither MRSxy nor MRSyx will be D. Idq MRSxy iR MRSyx ?H@"ﬁ '

8. fiftraxg Fruferass anm-

ZCro

8. The engel curve for a Giffen goods will be

A. Positively sloped A. YT a1 fa g

B Negatively sloped B. W?ﬂﬁf\?ﬁ@{
C. Horizontal C e
D Vertical

D. &Eq
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10.

11.

12.

13.

The slope of an indifference curve at any

pointisequal to

A. the marginal rate of technical
substitution

B. the marginal rate of substitution

C. the marginal utility of commodity x

D. the marginal utility of commodity y

Luxuries can be defined as goods whose
income elasticity of demand is-

A. greater thenone
B. equal toone
C. less than one but greater than zero

D. None of these

The elasticity of Rectangular Hyperbola
curve isequal to:

A. one

B.  lessthanone

C. greater than one

D. Zero

MC=MR=AC=AR shows the long run
equilibrium position of

A. acompetitive firm
B. aoligopolist firm
C. monopolist firm

D. afirmin recession

Under perfectly competitive conditions
labour will be demanded upto a point where
its marginal productivity is-

A. Zero

B Equal to wages paid

C. Equalto ARP
D

More than wages
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14. Price Discrimination is possible when 14.

A. Elasticities of demand are same in
different markets

B. Elasticities of demand are different in
different markets

C. There are large number of producers
in the market

D. There are large number of buyers in
the market

15.  Anintermediate product is a product sold by 5.

one business unit to another

A. Foruse

B. Forsale

C. For Further processing

D. For storing for sale in future

16.  Basemoney consistsof

A.  C+DD+TD 16.

B. C+R+OD
C. DD+TD+OD

D. C+DD+OD

17.  AFirm will continue production in the short

run, when 17.

A. TRislessthanTC

B. TR isless than fixed cost
C. MR isbelow AR

D. ARisgreaterthan AVC

18.  On the following curve which is not U

shaped 18.

A. The AC curve

B The MC curve
C. The AFC curve
D The AVC curve
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19.

20.

21.

22.

23.

Marginal cost will be at a minimum when

A. The total product isat a maximum

B. The factor are combined in their best
possible proportion

C. The average product of the variable
factorsis ata maximum

D. The marginal product of the variable
factors is ata maximum

Bilateral monopoly means

A. Tworival sellers only

B. Two rival buyers only

C. A monopolist facing a monopsonist

D. A monopolist seller buying inputs

from two suppliers

Total cost of production is equal to the sum of

the

A. Fixed and variable costs

B. Average and marginal costs

C. Costs of raw material and labour

D. Transport costs and establishment
costs.

Devaluation means

A. Decrease in the purchasing power of
money

B. Decrease in the value of money in
terms of foreign currency

C. Rise inthe general level of prices

Quantity of money is exceeding the

amount of goods

The modern quantity theory of money is

attributed by

A. J.R. Hicks

B. R.S. Sayers

C. Milton Friedman
D.

Harry Johnson
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24.  Ifthe elasticity of demand for importsisless 24.  Ife 3Tl I AT A HE A HHA A
than unity, then

A TERisTgEeem

A. the value of exports will increase
B. R HI YA SQM

B. the value of imports will increase

C. the value of imports will remain C. ST A feer Tem
constant D. frldFgeaHEm

D. the value of exports will decrease e Y ] p

25. SR YSfraret 31ef spereen
25.  According to Joseph schumpeter, the major

source of economic growth with in the frame kil ﬁﬁ%q@mﬂ_@ i &~

work of a capitalist economy is A I S

A. Pure competition

B Consumer expenditure B. SIS

C.  Availability of capital C. St Iqciedrar

D Innovative behaviour by D. TEE -
entrepreneurs

26.  Rightformula ofthe elasticity of demand is 26, TR I G-

AR AR
A- AR-MR A~ AR-MR
MR MR
B. AR-MR B. "AR-MR
ﬂ_— AR
MR-AR
C. ¢ MR-AR
MR
D. MR-AR b MR
MR-AR
27.  Which form of the monopoly regulation is 27.  3UHIH! & fod Tyl = FT A @
most advantageous for the consumer. T T s e S ?
A. Lumpsum tax A LERRGET
B. Per unit tax B. IGEEIEE T
C.  Pricecontrol C. HafE=m
D.  allareequally advantageous D. wfigArwEE

31 - Economics 8 P.T.O



28.

29.

30.

31.

32.

33.

The marginal productivity theory of 28.

distribution is propounded by:
A. J.M.Keynes

B. Marshall
C.  JB.Clark
D. IR Hicks

Which theory of profit presented by Prof.
Knight:

A. Rent Theory of profit

B. Risk theory

C. Uncertainty bearing theory

D. Innovation theory
Quasi-rent is equal to:

A. P-AVC

B. P-AFC

C. P-AC

D. P-MC

In the Ricardian rent theory, marginal land
gives-

A. Income

B. Minimum rent

C. Maximum rent

D. Zero Rent

Under the keynesion liquidity trap

conditions, an increase in money supply will

A. reduce the rate of interest
increase investment spending

B
C. increase the level of employment
D

have no effect on interest rate,
investment and employment
GDP deflator is defined as
A. the ratio of nominal GDP to real GDP
B the ratio of real GDP to nominal GDP
C. GNP atreal prices
D

GN.P without inflation and

depreciation
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34.  Domestic product is produced 34, ERQ] SCUTEH I SedIfed fhaT S g

A. with in domestic territory by A. aﬁ%ﬁq{’gﬁmmsﬂm a7
residents g: |
B. with in domestic territory by B. et & Frarfad ol ot émm
residents and resident and others e S
C. szt::ﬁ‘r:e;ﬁz::y with in or out of c e Eﬁq e -
3R 3w e ot
D. by residents in domestic and other
rorritorics D. frafedi g we diriifers & @i
3 siriferes & 1 oft
35.  Which of the following is included in the
computation of national income? 35. TGRS FHT O # = 5 9 Rl wfeat
A. Sale of existing shares of a company e ?
B. Fertiliser subsidy A. fereit et ?WW Frft
C. Commission paid to salesman of B. WWW
second-hand car C. TEIHT 1 g3 R o forshar i fan
D. Value of vegetables produced in TAHH
home garden D. W H T § Scafeq afesal i
36.  Given that Y=C+], C=50+0.8y andI = 20 HIAd
Then Y will be 36. AR Y=C+,C=50+0.8y3RI = 20%AY
A 3500 Ll
B. 350 A. 3500
C. 35 B. 350
D. 35000 C. 35
37. In the classical theory of output and D. 35000
employment, money is 37. UG AUSTIR & fafted faga d, ga18
A. neutral for production A. IR QT
B helpful for production B I H 9eEH
C. harmful for production C. 3I1e & e g eren
D distorts production D I Y o T et

31 - Economics 10 P.T.O.



38.  Marginal propensity to consume (MPC) is

A. the ratio of consumption expenditure
to the level of income.
B. the ratio of a change in consumption

to a change in the level of Income

C. the ratio of income to consumption
expenditure
D. the ratio of a change in income to a

change in consumption expenditure

39.  Inhistheory ofemployment, keynes neglect

A. induced investment

B. Autonomous investment
C. Consumption

D. Savings

40. If the production technique is labour
intensive and there is an excess capacity in
the consumer goods sector, the magnitude of

acceleration coefficient will be-

A. negative

B equal toone
C. more thanone
D Zero

41.  Given C = a+by where a = 240, b =0.8 and
autonomous investment (I) = 160,

equilibrium income will be-

A 320

B. 3200
C. 2000
D. 2200

31 - Economics
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42.

43.

44.

45.

46.

Changes in the rate of interest do not very

much affect the amount of money held for-

A. Transaction motive

B. Precautionary motive

C. Both transaction and precautionary
motives

D. Speculative motive

Given the total investment expenditure,
under keynesian conditions, an increase in
the propensity to save will lead to a-

A Fall in the quantity of savings

B. Fall in the real nation income
C. Fall in the interestrate
D. Rise in the price level

The accelerator measures -

A the effect of consumption on
investment

B. the effect of investment on
consumption

C. the rate of growth of the National
Income

D. the effect of investment on national
income

Super multiplier refers to-

A. Capital - output ratio

B. Interaction of the multiplier and the
accelerator

C. Budget multiplier

D.  Reciprocal ofthe MPC

Say's law explain that:
A. Supply creats its own demand
B. Demand creats its own supply

C. Both supply and demand affect each
other

D. Supply and demand both are
independent

31 - Economics
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47.

48.

49.

50.

S1.

In the classical model saving and investment 47,

are the functions of:
A. Income

B. Rate of interest
C. Price

D. National income and MEC both

Sum of marginal propensity to consume and

48.
marginal propensity to save is equal to :
A3
S
s S
’ 3
1
C. 2
D. 1 49.
What is the value of simple investment
multiplier, if MPC=0.8?
A. 2
B. 3
C. 4
D. S
Which of the following term is not related to 50.
the Banking system:
A. Bank Rate
B. Credit Creation -
C. Fiscal deficit
D. Cashreserve ratio
The first derivative of total production (TP)
willbe 51.
A. AP
B. MR
C. MP
D AR
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52. Yoo y=6x’+4x’-2xis 52.
dx
A 18x°+8x-2
B 18x+8x-2x
C. 36x+8x
D Ox+6x-2
53.
53. The mean of five number is 30. If one
number is excluded, their mean becomes 28.
Whatis the excluded number?
A. 38
B. 35
C. 33
D. 36 54,
54. What is the median of the data 78, 56, 22,34,
45,54,39, 54,68, 54, 84?
A. 54
B. 53
C. 55
D. 51
55.
55.  Which of the following is not a measure of
central tendency?
A.  Percentile
B. Quartile
C. Standard deviation
D. Mode 56.
56. The father of statistics is called:
A. H.G. wells
B. Wallis and Roberts
C. Lord Kelvin
D. Gottfried Achenwall -
57.  The first step of statistical investigationis: )
A. Collection of data
B. Planning of investigation
C. Analysis
D Editing
31 - Economics 14
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58.

59.

60.

6l.

62.

63.

In which of the following cases sampling
method will not be suitable

A. Average weight of newly born babies

B. Opinion of voters immediately
before general election

C. Test of the quality of pressure
cookers

D. Average life of electric light bulbs

Between two variables x and y there will be
only one line of regression if:

A. r=0
B. r=+1lor-1
C. r=+1
D. r=-1

The difference method of calculating
interpolation was proposed by:

A. Lagrange

B. Newton

C. Stirling

D. Pascal

Whois the 'Grand old man of India'?
A. Mahatma Gandhi

B Sardar Vallabh Bhai Patel
C. Dada Bhai Naoroji

D Gopal Krishna Gokhale

Who wrote the book "Wealth of Nations?
A. Adam Smith

B. Malthus

C. Ricardo

D. Sismondi

Malthus mainly associated with

A. Wage theory

B Renttheory

C. Population growth theory
D

National incometheory

31 - Economics
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64. The views of 'Dialectical materialism' was 64.

givenby:

A. Robert owen

B. Karl Marx
C. Ricardo
D. Adam Smith 65.
65.  The theory of international trade given by
Adam Smith is based on-
A. Comparative difference in costs
B. Absolute difference in costs
C. Both comparative and absolute
difference in costs
D. Quality of goods
66.  The exchange rate is determined by which of
the following 66.
A. IMF
B. IBRD
C. WTO
D The demand for and supply of
Foreign exchange.

67.  According to Lewis the problems of 67.

economic development in underdeveloped
countries can be solved by:

A. Use ofunlimited supply of labour

B. Foreign aid
C. Borrowing from domestic market
D. Importing foreign capital and
technology
68.  Which one is exogenously determined factor 68.
in Solow's model?
A. Population growth
B Capital stock
C. Labour stock
D Technology
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D. faRuitdsit siraehtes o TR d
fre1 § @ @ W el @ g § aEd
e FRE?
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69.

70.

71.

72.

What does Harrod call to" highest attainable 69,

growthrate."

A. Feasible Rate of growth

B. Golden rate of growth

C. Incremental rate of growth

D. Natural rate of growth

The outcome of Green accounting method of  7¢.

GDPis

A. System of Environmental Economic
Accounting

B. Environmental Domestic Product

C. Net Natural Product

D. Natural Income

Which of the following is the correct 71.

sequence of WTO ministrial conferences?
A. Singapore, Doha, Cancun, Fiasco
B. Singapore, Cancun, Fiasco, Doha
C. Cancun, Fiasco, Doha, Singapore
D.

Cancun, Fiasco, Singapore, Doha

Which one of the following is correct: 72.

A. The impact and incidence of direct

tax fall upon the same person

B. The impact and incidence of direct

tax falls on the different persons

C. The impact and incidence of indirect

tax fall upon the same person

D. None of the above
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73.  Which of the following is not related to the 73,

effect of public expenditure an production?

A. Ability to work

B. Willingness to work

C. Income Inequality

D. level and pattern of the production 74.
74. The inverse relationship between tax

revenue and tax rate is called:

A.
B.
C.
D.

Buoyancy of tax

Elasticity of tax

Laffercurve

None ofthese 75.

75.  Which one of the following is not relevant to

Fiscal Policy?

A. Resource mobilization

B. Resource allocation

C.  Equity |

D. Exchange rate stability 76

76.  Arevenuedeficit implies that-

A. the Government needs to borrow in
order to finance its expenses which
do not create capital assets.

B. the Government needs to borrow in
order to finance its expenses which
will create capital assets.

C. the Government needs to borrow
from Reserve Bank of India against
Government Securities.

D. the Government needs to borrow
from International Financial
Institutions.
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77.

78.

79.

80.

81.

With which of the following country, India 77,

has the highest trade deficit?

A. USA

B. China

C. UAE

D SaudiArabia

Which of the following infrastructure sector
of India is related with Bharat Mala Project?

A. Telecom Sector

B Railway infrastructure
C. Road infrastructure
D Port sector

Which of the following Agency release the
Index of Industrial Production to measure

industrial performancein India?

A. NSSO
B. RBI
C. CSO

D. Indian Statistical Institute

According to Ease of Doing Business
Report, 2018, India improved their rank
from-

A. 130t0110
B 130t0 100
C. 130t0 120
D 130to 116

Which of the following inflation target was
fixed in India for the period 2016 t0 2021?

A. 4 Percent with tolerance level of +/-
2 percent

B. 4 Percent with tolerance level of +/- 1
percent

C. 5 Percent
D. 6 Percent

31 - Economics

19

78.

79.

80.

81.

=1 ° | fore <91 & WY, 9Ra 1 Taitas
IR ERI ?

A GIEH T AR

B. =M

C.  HgH 3R T

D. U3k

R T RIS ST bt ot A e
TIRRZFER 8 Graf-a € ?

A Ewm A

B. {ATIRZTFH

C. HEHTHRIFH

D. S<TE&A

IRa § RN & o1 Iyafed =l AM9A &
ford frg B @ =i <t ween ol Scarga &
G hI T HA & ?

A TATE.TE.S.

B. IR.&.3E

C. H.ua.3i.

D. YR Hifeasa geam
HFHR FHIA H T W 2018 & Rdfe &
STTER R Y AT AR fra dae &
A, 1309110

B 1308100
C. 1308120
D

. 1308116
WRAH 201692021 &1 sy fe@ frm 9
HH FreR ae fia fearman g ?
A avfawE+/- 2 dfovA S HEA®R &
iy
B.  4Yfauw+/- 1 IR % Gea &l b
iy
C.  syfaee
D. ey
P.T.O.



82.  To improve institutional agricultural credit 82. YR % I I § YL HIY G’ I

flow, what credit target for the year 2018-19 a7 der & ford 99 2018-19 & fo& =/
. . o
has been fixed in the union budget of India ? T e T T

A. 9 Lakhcrore
A. 9 AT HUS

B 9.5 Lakh crore
C. 10 Lakh crore 9.5AT@HUS
D 11 Lakh crore C. 10 T HUS

83.  The AMRUT programme of Government of D. 11 @ HAS

India focuses on 83.  VIRTHIHN % I IIH HIH= ﬁ‘"i%

A. Providing R.O. water to all cites of A. IR & weft el H 2022 T . 3.
India upto 2022. T ST BT

B. Providing water supply to all B. qRd % 500 R # Wt IRARi R
householdsin 500 cities of India S srgfd gifefea e

C. Providing electricity to all house C. YRd < 1000 Y84 § 9t qfEari
holds in 1000 cities of Indig forega ST

D. Clearing Gangariver upto 2022. .
ing bang P D. 2022 ek T A&} ] |TH BT

84. Under Interest subvention scheme, the

84. AT STEH Al o 3T=id, fHa™ Wra &t
Tehd 8-

A. 3 TE ®©F T & hacl B had
IR wfdera ufdad & =9 ), 3fc q

farmer can avail -

A. crop loans of upto 3 lakh at only 4

percent per annum if they repay the

loan in time.
HT I RIHA G |
B. long term loans upto ten lakh at only
. . i N B. 10 W@ T & IHRICH B0 had 4
percent per annum if they repay the
yicera widas & = W 3fg 9 w0
loanintime - 2
C. i al | i
agricultural loans interest free upto 3 C. 3 T o % T T o e
lakh. &
D. interest subsidy upto 50 percent on D. Hfw U R 50 Siaw d 1 TS
agricultural loans R
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85.

86.

87.

88.

89.

According to the 14th Finance commission
of India, the share of states in the net
proceeds of the shareable central taxes
should be

A. 30%
B. 32%
C. 38%
D. 42%

Which state of India was the first state to
adopt Panchayti Raj system in 19597

A, Andhra Pradesh
B. Maharashtra

C. Rajasthan
D. Odisha

In which year, Community Development

Programme was initiated in the country?
A. 1949

B 1952
C. 1956
D 1959

Which one of the following measures is not
likely to assist in improving India's Balance

of Payment Position ?

A. Promotion of import substitution
policy

B. Devaluation of rupee

C. Imposition of higher tariff on imports
D. Levying of higher duties on exports

The economist who for the first time used the
scientific method to estimate National
Income in India:

A. D.R. Gadgil

B. C.N. Vakil

C. Prof. Brahmanand
D. V.K.R.V.Rao
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A SR TefiE
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90.

91.

92.

93.

94.

9s.

The percentage of decadal growth of
population during 2001-2011 as per census
2011is:

A. 15.89
B. 17.64
C. 19.21
D. 21.54

Service tax was introduced in India on the
recommendation of:

A. Kelkar Committee

B. Manmohan Singh Committee
C. Raja]. Challiah Committee
D. Rangrajan Committee

Bluerevolutionisrelated to

A, Fish Production

B. Jute Production

C. Horticulture development

D. Coal production

First five year plan of India was based on the-
A, Naoroji Model

B. NehruModel

C. Harrod-Domar Model
D. Mohalanobis Model

Indicate the Gap between the growth rates of

population of Rajasthan and India for 2001-
2011 in percentage points.

A. 3.6%
B. 4.5%
C. 5.5%
D. 3%

Which two districts would be benefited from
Mewat Regional Development Project?

A. Alwar and Dholpur

B. Alwar and Bharatpur

C. Barmerand Jaisalmer

D. Sawai Madhopur and Bharatpur
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90.

91.

92.

93.

\O

9s.

4.

2011 &Y SFUMAT & STTER 2001-2011 &

TR T SHHEAT G T 1 Wi &0 &t ?
A, 1589

B. 17.64

C. 1921

D. 2154

9RA H qa o fehent fafien A gt ?
A.  hakgHfa

B.  wHre fagwfafa

C. UsTS. Segfafa
D. UReHgEta
el sfa grafea e

A, TEASERA
B.  SESdRA

C. arEm! fawmE

D.  HIC3qREA

R H Ugel Taavite AISHT Sl STER o1

A, ARt HAEA

B. WEwHEd

C. We-dmRHAEA

D. WeARIagHEA |

T 2001-2011 % SNA ARA IR THEIH H
TAHEA gig U B &9 & STa0d ol JiasTd
forg Haramed

A 3.6%

B. 4.5%

C. 55%

D. 3%

Hara & fawra afEem @ A 4 & S
A B ?

A AR GAR

B. 3SR 3R AR

C.  TEHR 3R SHeit

D. TR W 3R HaqR
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96.

97.

98.

99.

100.

Select the location of Giral Lignite Thermal
Power Plant Unit I and IT in Rajasthan

A. Bikaner

B. Jaisalmer
C. Dholpur
D. Barmer

Select the chairman of the 14th finance

commission from the following-
A. Dr. C. Rangrajan

B. Dr. Vijay Kelker

C. Dr. Y.V.Reddy

D. Dr. M. Govinda Rao

The main objective of Aravali Development
projectis to
A. Control soil degradation

B. Check the expansion of Thar Desert

“C. Arrestdeforestation

D. Restore ecological balance

The river which originates from MP and
drops its water into the Gulf of Khambhat is

A. The Luni
B. The Mahi
C. The Jawai

D. The Parvati
Central camel breeding Farm is situated at

A. Kalayat
B Jorbir

C. Suratgarh
D Ramgarh
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98.

99.

100.
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